
 

 Задания 

 

 

Класс 

Скакалка Эрудит Загадки 
Эстафета 1 

«Разложив -собери» 

Эстафета 2 

«Мяч перенеси» 

Эстафета 3 

«В мешке пробеги» 
Итог 

Результат Место Результат Место Результат Место Результат Место Результат Место Результат Место 
Сумма 

муст 

Итоговое 

Место 

1 «А» 446 3 14 2 24 1 3.12.00 1 3.32.22 1 3.17.03 2 10 I 

1 «Б» 570 1 11 3 20 2 3.51.78 3 4.26.69 2 3.25.22 3 14 III 

1 «В» 231 4 15 1 17 3 4.27.13 4 4.50.69 4 3.31.06 4 20 IV 

1 «Г» 518 2 15 1 17 3 3.41.41 2 4.39.87 3 3.01.78 1 12 II 

2 «А» 133 4 14 2 - - 3.27.31 2 3.06.62 3 2.55.03 3 14 III 

2 «Б» 158 3 15 1 3 - 2.51.96 1 2.31.19 1 2.31.05 1 7 I 

2 «В» 214 1 11 3 9 - 3.53.16 3 3.03.97 2 2.40.09 2 11 II 

2 «Г» 160 2 11 3 - - 4.14.65 4 4.14.22 4 3.02.57 4 17 IV 

 Задания 

 

 

Класс 

Скакалка Эрудит Загадки 
Эстафета 

«Разложи-не выкати» 

Эстафета 2 

«Уступи лыжню» 

Эстафета 3 

«В мешке пробеги» 
Итог 

Результат Место Результат Место Результат Место Результат Место Результат Место Результат Место 
Сумма 

муст 

Итоговое 

Место 

3 «А» 241 1 22 1 8 - 6.37.41 4 4.48.65 4 2.28.56 1 11 II 

3 «Б» 215 3 16 3 6 - 5.42.56 1 4.46.88 3 2.54.81 3 13 III 

3 «В» 197 4 15 4 5 - 6.05.94 2 4.45.51 2 3.06.91 4 16 IV 

3 «Г» 217 2 17 2 - - 6.25.25 3 4.31.12 1 2.49.28 2 10 I 

4 «А» 288 2 18 2 7 - 6.03.03 3 6.08.84 4 3.30.13 2 13 II 

4 «Б» 109 3 16 4 - - 4.38.12 1 2.22.44 1 4.03.93 4 13 II 

4 «В» 106 4 17 3 - - 5.25.00 2 2.33.59 2 3.47.25 3 14 III 

4 «Г» 304 1 19 1 - - 6.03.95 4 4.45.12 3 2.15.00 1 10 I 


